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B C D F
DBA-HC24S DBA-GE6 DBA-ZRR70W | DBA-GRX120 | DBA-CKV36 ABF-SK82VN
20 8 20 3 20 1 20 7 19 10 21 3
(kg) 770 1010 1610 1500 1630 1350
(kg) 990 1285 2050 1775 1850 2265
(m) 3.39 3.90 463 473 4.65 4.28
FF FF FF FR FR FR
K6A L13A 3ZR-FAE AGR-FES VQ37VHR
L) 0.658 1.339 1.986 2.499 3.696 1.789
kw/rpm) 40/6500 73/6000 116/6200 158/6400 245/7000 70/5250
(N m/rpm) 61/4000 127/4800 196/4400 260/3800 363/5200 135/2500
PMR(kw/t) 47.34 67.28 68.84 100.32 143.70 49.12
o urban(m/s?) 0.97 1.06 1.07 1.17 1.27 0.98
o wot_ref(m/s?) 1.25 1.50 151 1.77 2.02 1.28
o wot 1.32 157 1.59 1.86 2.12 1.34
o wot 1.19 1.42 1.44 1.68 1.92 1.22
4AT cvT cvT 6AT TMT-ATx 4AT
CVT - 2419 0421 2396 0.428 - - -
1 2914 - - 3538 4.923 2.785
2 1.525 - - 2.060 3.193 1.545
3 1.000 - - 1.404 2.042 1.000
4 0.725 - - 1.000 1411 0.694
5 - - - 0.713 1.000 -
6 - - - 0.582 0.862 -
7 - - - - 0.771 -
2.642 2477 1.480 1.668 3.168 3.972 2.272
5.482 4.908 5.470 4.100 3.357 4777




LAe
(m) (m) (LAeq)
1-21 20 B 4 35 12 77 76 65 60
6-25-8 | 20 b 5 3 12 75 74 75 70
2-4-2 20 c 4 3 2 73 7 75 70
368 16 C 2 45 12 73 73 65 60
1-23 16 C 2 2 12 73 71 65 60
150 16 C 4 55 12 73 72 65 60
1-8 16 B 2 48 12 76 76 65 60
5-19 16 C 2 15 12 75 75 65 60
2300-4 16 c 4 3 15 76 75 75 70
1120-1 16 C 4 25 12 72 72 65 60
2215 16 C 4 25 12 72 74 65 60
H19
kmZh
24 12 " = =
16 20 28796 155 172 318
6 16 20 24105 18 25.9 223
3 10 20 20849 133 302 266
3 21 5 20 36400 203 184 272
1 267 16 53684 358 225 199
1 18 16 16 46377 35.0 143 205
5 16 16 26492 55.4 16.4 7.9
1298 16 48703 322 199 316
6 24 16 35041 331 275 302
751 16 33725 171 181 104
162 16 51320 271 293 333
(km/h)
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